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1

Solved Examples

B. 3e
C.5e

D.e/5

Answer: C


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_4RgGOuMfjoa5

° View Text Solution

23 3

1 3 2 =

A. (m?’ — 6z + Tz — 1)6”c
B. (m2+7w+8)e’” -8
C. (333 + 622 + Tz + I)e“c

D. (z* + 7z + 8)e” + 8

Answer: C

o View Text Solution

3 5
then y—l—y——l-y——l—....

3.fy = ————
Y 2z2 — 1 3 5

w
ot

X X
A.x—f——“'—?—f—...

w

3 zd
B.2 — +—+ ...
(x + 3 + R + )


https://dl.doubtnut.com/l/_4RgGOuMfjoa5
https://dl.doubtnut.com/l/_97hNoN1a7Ks0
https://dl.doubtnut.com/l/_DPZho8GxDUgG

Answer: B

° Watch Video Solution

€T $2 333

4. 19 + 2.3 + 34 + s =

Al-+ (1_Tx>log(1 — )

B.1+ (wgl)log(l—x)

1—=z

C1l+

log(z — 1)

D. 1+(x-1)/(x)log(x-1)’

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_DPZho8GxDUgG
https://dl.doubtnut.com/l/_JNE6nKh2qYo1

D.1/e

Answer: B

° Watch Video Solution

4 16 64

214 7+ 57t 37
A e
B.e2


https://dl.doubtnut.com/l/_LmOkVZmFknDx
https://dl.doubtnut.com/l/_Mlhhh0fn8KNz

Answer: D

° Watch Video Solution

Answer: D

° View Text Solution



https://dl.doubtnut.com/l/_Mlhhh0fn8KNz
https://dl.doubtnut.com/l/_6K9tQMSufzJy
https://dl.doubtnut.com/l/_cDVXYkmIv1IJ

Answer: D

o Watch Video Solution

5.1—%4—%—%4—...
A e
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D.e 3
Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_cDVXYkmIv1IJ
https://dl.doubtnut.com/l/_rXYzDZFnGKxp
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Answer: A

° Watch Video Solution

(log. 3)*  (log3)°
21 + 3!

7.1og, 3 +

Al

B.2


https://dl.doubtnut.com/l/_rXYzDZFnGKxp
https://dl.doubtnut.com/l/_oO8N1VTkYiMe
https://dl.doubtnut.com/l/_1hI24c1dEPTz

Answer: B

° Watch Video Solution

2 23

2
8.1+ 2(log, a) + ?(loge a)’ + y(loge a)’ + ...

Answer: C

° Watch Video Solution

$2 2 $3 3
9.1+ z(log, 2) + ?(log6 2)" + y(loge 2)" + ...


https://dl.doubtnut.com/l/_1hI24c1dEPTz
https://dl.doubtnut.com/l/_MtJLDrohrEeE
https://dl.doubtnut.com/l/_sWdH9sCRJnhW

D. 2"

Answer: D

o Watch Video Solution

1133 3 335 5
10. z log, a + y(loge a)” + a(loge a) +..=

A. cosh(z log, a)
B. coth(z log, a)
C.sinh(z log, a)

D. tanh(z log, a)

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_sWdH9sCRJnhW
https://dl.doubtnut.com/l/_ZKreovX3YDe2

a’ 3 ° 5
N.zlog, a + y(loge a)” + ?(loge a)’ + ... =

A. cash (zlog, a)
B. coth (z log, a)
C.sinh (zlog, a)

D.tanh (z log, a)

Answer: C

o Watch Video Solution
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https://dl.doubtnut.com/l/_ZKreovX3YDe2
https://dl.doubtnut.com/l/_oxRJRFgR2Dg9
https://dl.doubtnut.com/l/_qbKNqa3GqCpt

D.1

Answer: D

° Watch Video Solution

D.1

Answer: B
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1+ — 4+ — + — + ...

1! 2! 3!

)

o Watch Video Solution

14. e37=



https://dl.doubtnut.com/l/_qbKNqa3GqCpt
https://dl.doubtnut.com/l/_1TRnR5ZSSrsF
https://dl.doubtnut.com/l/_ifJkZfqhMLXM
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C1l+ 11 Y 30
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D.1-— —

1! 2! 3!

Answer: C

° Watch Video Solution

Answer: D

I ° Watch Video Solution


https://dl.doubtnut.com/l/_ifJkZfqhMLXM
https://dl.doubtnut.com/l/_FrrRUUlKqgZu

Answer: D

° Watch Video Solution

1! 21 3!
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B.1+ 21 30
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C.2|1+ ( ) ( w) +



https://dl.doubtnut.com/l/_FrrRUUlKqgZu
https://dl.doubtnut.com/l/_GovQV7t27TbW
https://dl.doubtnut.com/l/_AAjjKuCbN1GZ

e (T2)®  (Tz)°
1! + 3! + 51

Answer: C

° Watch Video Solution
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[ (32’ (3)*
B.2| 1+ —, T
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C214+ ——+ 5+
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D.2|1+ oy + 7+ oo
Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_AAjjKuCbN1GZ
https://dl.doubtnut.com/l/_CnIBQPoRQere
https://dl.doubtnut.com/l/_YYl6Fah3beSa

[ (32 (3x)
A21+ 51 + 10 + ...
5 3z (3z)°
B. ? + Y + ..
[ (22)°  (20)*
C.2(1+ 5] 10
5 2z (22)®
D. F —+ 30 + ..
Answer: B

° Watch Video Solution

20.The (n + 1) the term in the expansion of e° is

A.5!
B.5"
C.5"/n

D.5" /n!

Answer: D

| O A _L vl . o e~ 1.0


https://dl.doubtnut.com/l/_YYl6Fah3beSa
https://dl.doubtnut.com/l/_q7RxuXSHHytE
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21.The (n + 1) the term in the expansion of e** is

A 4!
B. 4"
C.4" /n!

D. (42)" /n!

Answer: D

° Watch Video Solution

22.The 12th term in the expansion of e 3 is

311
A ——
11!
_311
11!
11!
. ?



https://dl.doubtnut.com/l/_q7RxuXSHHytE
https://dl.doubtnut.com/l/_WFNFfNtr8YSM
https://dl.doubtnut.com/l/_qAnGSDUWTyAQ

Answer: B

° Watch Video Solution

23.The (n 4 1)th term in the expansion of e % is

Answer: D

° Watch Video Solution

24.The (n + 1)th term in the expansion of e ~*” is


https://dl.doubtnut.com/l/_qAnGSDUWTyAQ
https://dl.doubtnut.com/l/_jztX1yL3aTrm
https://dl.doubtnut.com/l/_BjYY8uYpJpbo

Answer: C

o Watch Video Solution

25. The coefficient of z® in the expansion of %% is

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_BjYY8uYpJpbo
https://dl.doubtnut.com/l/_4anXRgbeCR2q

26. The coefficient of 2 in the expansion of €2* 73 is

A. 62
B. e3
C.2¢e°

D. 3¢?

Answer: C

° Watch Video Solution

27.The coefficent of 2" in the expansion of (1 — z)e” is



https://dl.doubtnut.com/l/_4anXRgbeCR2q
https://dl.doubtnut.com/l/_TV75uywgIl8g
https://dl.doubtnut.com/l/_ONL04K2KtzkQ

Answer: C

° Watch Video Solution

28.

1
E(e“” + e5w) =ag+ a1z + asz® + ... = 2a; + 2%a5 + 2%a5 + .....
e

C.1

D.O

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_ONL04K2KtzkQ
https://dl.doubtnut.com/l/_GU4Nx6AN1P7R
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Answer: C
o Watch Video Solution
1+ azx + 22

30. The coefficient of " in the expansion of
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©n! (n—1)! (n—2)!

IS
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https://dl.doubtnut.com/l/_ODRAzEBoXx98
https://dl.doubtnut.com/l/_p0g65KOzummn

Answer: B

° Watch Video Solution

31. The coefficient of " in the expansion of (2 + 3z) (e ") is

Answer: D

° Watch Video Solution

32. Coefficicent of z'° in the expansion of (2 + 3z)e * is


https://dl.doubtnut.com/l/_p0g65KOzummn
https://dl.doubtnut.com/l/_PAvFvFoTwXYs
https://dl.doubtnut.com/l/_C4FV25ku8Qb5

Answer: B

° Watch Video Solution

1—2x .

33. The coefficient of 2" in is

(1+2n)

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_C4FV25ku8Qb5
https://dl.doubtnut.com/l/_ojgDTOskPybW
https://dl.doubtnut.com/l/_TRG7ArsSBNZd
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34. The coefficient of z° in the expansion of
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Answer: B
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o Watch Video Solution
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https://dl.doubtnut.com/l/_TRG7ArsSBNZd
https://dl.doubtnut.com/l/_ykehaSzPImkJ

Answer: A

° Watch Video Solution

36. The coefficient of " in ! ;x (1 —|2—!;13)2 C —g!ag)?’ + ...
A e
B.n!
C.en!
D.e/n!
Answer: D
° Watch Video Solution
37. The coefficient of x" in
14 (az 4+ )+ (az + b)? ) (az + b)° .

2!



https://dl.doubtnut.com/l/_ykehaSzPImkJ
https://dl.doubtnut.com/l/_BpwJPEWnhBLR
https://dl.doubtnut.com/l/_9VWR4Kledvww
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e’b"
D.————
(n—1)!
Answer: A

o Watch Video Solution
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n=1 n!
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Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_9VWR4Kledvww
https://dl.doubtnut.com/l/_H3fySZ0z723e

39. If n is odd, coefficient of

Answer: C

T

n
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expansion

of

° Watch Video Solution

40. If n is even, coefficient of

1 $2 $4 2,

the

expansion

of


https://dl.doubtnut.com/l/_H3fySZ0z723e
https://dl.doubtnut.com/l/_yHMvPOEsucvs
https://dl.doubtnut.com/l/_SlMXWCKaqkDi

Answer: D

o Watch Video Solution

32 3 34
N2 r bt

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_SlMXWCKaqkDi
https://dl.doubtnut.com/l/_cCLeFshkOYb1
https://dl.doubtnut.com/l/_24ZTVOqrK9T5

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_24ZTVOqrK9T5
https://dl.doubtnut.com/l/_Sy4vGcpcJDyc

Answer: C

° Watch Video Solution

44. -1 2 2
. — —i—a—a—f—z—....

Answer: D

° Watch Video Solution

45, Sum of the series 1 + 3— + — 4+ — +...
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https://dl.doubtnut.com/l/_Sy4vGcpcJDyc
https://dl.doubtnut.com/l/_iP2OCjUwbrsA
https://dl.doubtnut.com/l/_1Mx0Mjim9bPW

Answer: D

o Watch Video Solution

B.e+1

Cl-—e

D.e —1

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_1Mx0Mjim9bPW
https://dl.doubtnut.com/l/_YJ8Cpq2rEUlw
https://dl.doubtnut.com/l/_SGv50eGLiH5v
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1
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D.e —e !
Answer: B

o Watch Video Solution

48y — T _
n=1 (2n— 1)'
A.e‘/g —e*\/E

B. \/E(e‘/z — e_\/E)
C. ﬁ(e‘ﬁ + e_ﬁ)
D.\/E(e‘/E - e_‘/z) /2


https://dl.doubtnut.com/l/_SGv50eGLiH5v
https://dl.doubtnut.com/l/_sDN2AtthCOcA

Answer: D

° Watch Video Solution

1 1 1

49, The sum of series E + Z + a + ... s
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A.
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D.

Answer: D

° Watch Video Solution

50.1 = = =
. —l-a—f—a—l—.... =


https://dl.doubtnut.com/l/_sDN2AtthCOcA
https://dl.doubtnut.com/l/_DpzzUZnSJnZw
https://dl.doubtnut.com/l/_lUQ0w00JqFqL
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Answer: D

o Watch Video Solution

g2, 4 6 B
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A e
B. 62
C.2e

D.1/e

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_lUQ0w00JqFqL
https://dl.doubtnut.com/l/_r8WSmBB5YZF0
https://dl.doubtnut.com/l/_Pn3tpX4choLA

Answer: D

° Watch Video Solution

1 2 1 4
53.2|1 + (log, a) (log, a)

2! 4!

B.(Jl,—l—a,_1

C.a> +a‘2

D.a —a !


https://dl.doubtnut.com/l/_Pn3tpX4choLA
https://dl.doubtnut.com/l/_aovp9lfEX742

Answer: B

o Watch Video Solution

541+ 2 45 4 4
At gy gyt e

D.e !/2

Answer: B

o Watch Video Solution
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https://dl.doubtnut.com/l/_aovp9lfEX742
https://dl.doubtnut.com/l/_9tc4uUM18Rhe
https://dl.doubtnut.com/l/_7DD5X9ypMYbm

D.e !/2

Answer: C

o Watch Video Solution

56 1 2 3 B
§+5+F+ =

D.e !/2

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_7DD5X9ypMYbm
https://dl.doubtnut.com/l/_M8IFoAjBk7I2
https://dl.doubtnut.com/l/_mcV9fJVwwEV1

57.1 2 5 4
. —|—F—|—?+y—l—”..

e /2

Answer: B

° Watch Video Solution

I L I
tortar gt

B. 2e
C.3e

D.e + 2


https://dl.doubtnut.com/l/_mcV9fJVwwEV1
https://dl.doubtnut.com/l/_9fMcuTtmfD6J

Answer: C

° Watch Video Solution

D.e !/2

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_9fMcuTtmfD6J
https://dl.doubtnut.com/l/_noJWwyfcQCZ7
https://dl.doubtnut.com/l/_ciIsI3UM7qh8

B. 2e

C.3e

D.e +2

Answer: D

o Watch Video Solution

6. ¥ —— =

D. 2e

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_ciIsI3UM7qh8
https://dl.doubtnut.com/l/_RcHvqgcPJV9X
https://dl.doubtnut.com/l/_aJsDX9UdsyNU

62. —_— =
z_:l (n+1)!

3

B. 2e

C.3e

D.e —1

Answer: D

° Watch Video Solution

8

63. 2_31(2n"(2)+n+1)/(n!)=‘

n

A 2e —1
B.2¢e +1
C.6e—1

D.6e +1


https://dl.doubtnut.com/l/_aJsDX9UdsyNU
https://dl.doubtnut.com/l/_iyE9IqRVoHuz

Answer: C

° Watch Video Solution

D.1/e

Answer: B

° Watch Video Solution

65. (1 a’z?  a'z? 2 alz®  a’x® 2_
1+ 91 + 1l + .. ] —lax + 30 + Bl + ... =

A.O


https://dl.doubtnut.com/l/_iyE9IqRVoHuz
https://dl.doubtnut.com/l/_eGflcicJGsiG
https://dl.doubtnut.com/l/_FxeRR49s9cBV

B.1

D.1/e

Answer: B

o Watch Video Solution

Ce+1

D.e2+1

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_FxeRR49s9cBV
https://dl.doubtnut.com/l/_hEdlnuaUA5E8

1 1
1+3—!+5—!—|—.... B

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_z6L3XKh8l9JX
https://dl.doubtnut.com/l/_sPnaehV1wnWS

Answer: A

° Watch Video Solution

B.2/e
Cl—-1/e

D.1-2/e

Answer: D

° Watch Video Solution

1 142 142422
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70.

A e


https://dl.doubtnut.com/l/_sPnaehV1wnWS
https://dl.doubtnut.com/l/_ZkVgeRbslAhU
https://dl.doubtnut.com/l/_YNe1N5BJlgF5
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D.ez—e

Answer: D

° Watch Video Solution
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Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_YNe1N5BJlgF5
https://dl.doubtnut.com/l/_PPHYSAuxmoWq
https://dl.doubtnut.com/l/_eh3c7Tc2CsGv

1 142 1+2+3
_|_

o T T3 T

B. 2e
C.e/2

D.1/e

Answer: C

° Watch Video Solution

2 244 2+4+6
+

73.54— 30 + 1l
Ae—2
B.e—1
Ce


https://dl.doubtnut.com/l/_eh3c7Tc2CsGv
https://dl.doubtnut.com/l/_kraCvIof5iev

Answer: C

° Watch Video Solution

1+3 1+3+ 3

T TR Y

B. 2e
C.e/2

D.1/e

Answer: B

° Watch Video Solution

2 4
75.17 + — 4+ — 4+ — + ...
21 31 4!


https://dl.doubtnut.com/l/_kraCvIof5iev
https://dl.doubtnut.com/l/_SJj2zBWXtkx0
https://dl.doubtnut.com/l/_7LVJjuh1RGVy

B. 2e
C.e/2

D.1/e

Answer: B

o Watch Video Solution

1> 22 3
76'§+§+E+"” =
A e
B. 2e
Ce—1
D.e +1
Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_7LVJjuh1RGVy
https://dl.doubtnut.com/l/_bcO7rd12ifEj
https://dl.doubtnut.com/l/_N1teB4DFxAXF

12 124+22 12422432

77. +

1! T 3!
A 17e/6
B.6e /17
C.11e/7

D.7e /11

Answer: A

° View Text Solution

B.7e
C.1le

D.e/5


https://dl.doubtnut.com/l/_N1teB4DFxAXF
https://dl.doubtnut.com/l/_EQ9pnESU94ql

Answer: B

° Watch Video Solution

12.22 2232 3242
TR T T

A. 27e
B.6e — 1
C.7e

D. 2e

Answer: A

° Watch Video Solution
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n=1 Py

Ae—1


https://dl.doubtnut.com/l/_EQ9pnESU94ql
https://dl.doubtnut.com/l/_OQ8wPH8Cq9eN
https://dl.doubtnut.com/l/_0pOGd1xMKfPV

B.e +1

ce?—1

D.ez+1

Answer: C

° View Text Solution

2 4 6

81.1—5—%]—54—.... =

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_0pOGd1xMKfPV
https://dl.doubtnut.com/l/_WoUwCZbPQS3r
https://dl.doubtnut.com/l/_rHG4vuL164Oa

1.2 2.3 3.4

82.1!+2!+3!+

A e

B. 2e

C.3e

D.e + 2

Answer: C

o Watch Video Solution

1 1.3 1.3.5

Bl+ — +—— +—— +

2! 4! 6!

B. 2e

C.l/e

D. /e


https://dl.doubtnut.com/l/_rHG4vuL164Oa
https://dl.doubtnut.com/l/_H8OSMTzMMNfy

Answer: D

° Watch Video Solution

Baafs = = ¢ 0 1 o, then S =
1.2 1234  1.2.3.4.5.6
Aet/? -1
B.e'/? +e
Ce+1

D. none of these

Answer: A

° Watch Video Solution

s 4 11 2 37 56 B
Tt tar et =

A.27e


https://dl.doubtnut.com/l/_H8OSMTzMMNfy
https://dl.doubtnut.com/l/_2OTEiBipw7yQ
https://dl.doubtnut.com/l/_3cnKgIAV9NIg

B.6e — 1

C.7e

D. 2e

Answer: B

° Watch Video Solution

86 5 7 9
oﬁ—i_ﬁ_ka—i_u.

A.5e — 3e !

8 e — 3e 1
' 2

C.5e — 3e !

5 e — 3e 1
) 2

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_3cnKgIAV9NIg
https://dl.doubtnut.com/l/_LGSOAwxKipow
https://dl.doubtnut.com/l/_2IAzzWu0mIF8

1 1

1
87.The sum of the ies 1 ...00 1
! series L+ o1 T Tear T eaer 0"

e—1
NG
e+ 1
Ve
e—1
2/e
e+1

e

Answer: D

° Watch Video Solution

2x 32 4>
88.14—?4—7—1—?—}-.... =
A (z+1)e”
B.(z — 1)e”


https://dl.doubtnut.com/l/_2IAzzWu0mIF8
https://dl.doubtnut.com/l/_DjpUokV8hvpF

Answer: A

° Watch Video Solution

23 34,
89.1.2 + T.’E + T‘T + ... =

A (a:2 + 4z + 2)6’”
B. (332 + 3z + 2)6””
C. (z2 — 4 + 2)6"”

D. (mz — 3z + 2)ew

Answer: A

° Watch Video Solution

35 46 , 5.7

90. —x + —zx° + =3 + ... =

1! 2! 3!

A (m?’ — 6z + Tz — 1)6”c


https://dl.doubtnut.com/l/_DjpUokV8hvpF
https://dl.doubtnut.com/l/_RTeo46Tt4lGi
https://dl.doubtnut.com/l/_HioEfBe2QkBi

B. (332 + 7z + 8)e” — 8
C. (x?’ + 622 + Tz + 1)(23c

D. (m2+7m—|—8)ew+8

Answer: B

° Watch Video Solution

1. If
1 , a1
S=(w+y)(w—y)+§(w+y)(m—y)(w +y)+§(w+y)(w—y)(a
then S =
A.ewz—y2
B e’”2+ey2
C.e® —e¥

D. none of these

Answer: C

[ - 1


https://dl.doubtnut.com/l/_HioEfBe2QkBi
https://dl.doubtnut.com/l/_aoECl5EL6RS5

| @J Watch Video Solution

92. The approximate value of e? is

A 72
B.73
C.74

D.75

Answer: C

° Watch Video Solution

z? z3

93.:1:—1—5—1—5—#.... =

A. 2\/5(6\/5 + eﬁ)
B.\/E(e‘/E — eﬁ) /2

C. \/5(6‘5 + e‘/;)


https://dl.doubtnut.com/l/_aoECl5EL6RS5
https://dl.doubtnut.com/l/_vpk2tPT90heV
https://dl.doubtnut.com/l/_zoyiHXboVVzV

D. \/E(e‘/z — e\/g)

Answer: B

° Watch Video Solution

1. The 7th term of log, (5 /4) is

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_zoyiHXboVVzV
https://dl.doubtnut.com/l/_spkSP1XR5DgS
https://dl.doubtnut.com/l/_PVaTFYtCBvlc

2.The nth term of log, 2 is

(-t
n.2"
(-1t
-
n.3"
[

n.4"

A.

B.

C.

D.

Answer: B

° Watch Video Solution

3.The nth term of log,(3/2) is

S
n.2"
n—1
-1
)
n
cL=u
n.3"
n—1
-1
o LD

n.4"


https://dl.doubtnut.com/l/_PVaTFYtCBvlc
https://dl.doubtnut.com/l/_iGmyqSqKd9ss

Answer: A

° Watch Video Solution

4.The nth term of log,(4/3) is

(-1
n.2"
(-
( . 1)n71
n.3"
(—1"

n.4"

A.

B.

C.

D.

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_iGmyqSqKd9ss
https://dl.doubtnut.com/l/_aqr9xmZVf3Ro
https://dl.doubtnut.com/l/_dxt4V0mK8FRx

B.log, 4

C.log, 7

D. —log, 7

Answer: D

° Watch Video Solution

Alog, 3
B.log, 4
C.log, 2

D.log, 5

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_dxt4V0mK8FRx
https://dl.doubtnut.com/l/_Rvk0q6Ci4CIH

A.log, 3
B.log, 4
C.log, 2

D.log, 5

Answer: A

o Watch Video Solution

A.log, 3
B.log, 4
C.log, 2

D.log, 5



https://dl.doubtnut.com/l/_kRCAKrinLgN7
https://dl.doubtnut.com/l/_ApwL85vz4Z1u

Answer: D

° Watch Video Solution

1 1 1

1
9.— + + + +
3 33 53 7.3

A log 2

B 1| 2
-5 log
C.2log 2

D.log (1/2)

Answer: B

° Watch Video Solution

1 1 1 1

— + + + +
5 35 55 7.5

A.log (3/2)


https://dl.doubtnut.com/l/_ApwL85vz4Z1u
https://dl.doubtnut.com/l/_zbXCLnmvsVHk
https://dl.doubtnut.com/l/_zpglpZ0NM6ht

B. %10g(3/2)
C.2log(3/2)

D.log(2/3)

Answer: B

° Watch Video Solution

1 1
.1+

+ + +
3.22 52 796
A.log, 2
B.log, 3
C 11 2
) 0g,

D 11 3
.Eoge

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_zpglpZ0NM6ht
https://dl.doubtnut.com/l/_wocKbvPBjPxH
https://dl.doubtnut.com/l/_lNRRLRwwB1Yy

12.1og, 2 — logg 2 + log;s 2 — ...

A. €2
B. log,
C.+log, 3

D.1 — log, 2

Answer: D

° Watch Video Solution

13.1log, 2 =
A1—|———|—l+l+
2 3 4
g1+ 1 1.
2 3 4
1 1 1



https://dl.doubtnut.com/l/_lNRRLRwwB1Yy
https://dl.doubtnut.com/l/_TxvIcMFDj2tu

Answer: C

° Watch Video Solution

1 1 1

14. 19 + 34 + 56 + ...

A log, 2

B.log, 3

C.log, 5

D.log,2 —1/2

Answer: A

° Watch Video Solution

1 1 1 1

15. + + + + ...

23 45 6.7 8.9

Al 2
log| —


https://dl.doubtnut.com/l/_TxvIcMFDj2tu
https://dl.doubtnut.com/l/_u1D59945pN3X
https://dl.doubtnut.com/l/_20SzsjRIP66J

B.log(%)

C.log(2e)

D.e —1

Answer: B

° Watch Video Solution

" 1 1 1 1
"12 23 734 45

Alog, 2 -1

B.2log, 2 — 1

C.2log, 2

D.2log, 2 +1

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_20SzsjRIP66J
https://dl.doubtnut.com/l/_wv7ByI8Yvh6F
https://dl.doubtnut.com/l/_n0FWL7teSWL1

1 1 1 1

17. + + + + ...

1.3 2.5 3.7 4.9

A.2log, 2.2

B.2 — 2log, 2

C.2log, 4

D.log, 4

Answer: B

° Watch Video Solution

1 1 1

8. 1.2.3 + 3.4.5 + 5.6.7

A.log, 2
B.log, 3
C.log. 5

D.log,2 —1/2

+


https://dl.doubtnut.com/l/_n0FWL7teSWL1
https://dl.doubtnut.com/l/_8cxinhDQeFs6

Answer: D

° Watch Video Solution

19 > + 7 + J + e =
"1.23 345 567 7

A.log, < )
2

B. log, (;)
6

C.log, (E)

D.2 — log, 2

o | o

Answer: A

° Watch Video Solution

1 1 1

20.Th fth i e
e sum of the series o+ + 357 + 579 + ... s

A.3log, z


https://dl.doubtnut.com/l/_8cxinhDQeFs6
https://dl.doubtnut.com/l/_k4uOBJO6EDHA
https://dl.doubtnut.com/l/_c9w3mlsYXRc7

B.1/8
c.1/9

D.1/12

Answer: D

° Watch Video Solution

1 1 1
21. Sum of the series 156 + E 6T + 6.7.8 +
A. ilog e
20 ¢
B. ilogee
10
C. ilog e
40" ¢

D. none of these

Answer: C

... upto > is

o Watch Video Solution



https://dl.doubtnut.com/l/_c9w3mlsYXRc7
https://dl.doubtnut.com/l/_1YM6FtUcExbi
https://dl.doubtnut.com/l/_AlBqTVbpS7BO

Answer: B

° Watch Video Solution

A log, 2
B.log, 3

C.log, 5

D.log,.(3/2)


https://dl.doubtnut.com/l/_AlBqTVbpS7BO
https://dl.doubtnut.com/l/_LLIkQkZA6gP2

Answer: B

° Watch Video Solution

1 1 1 1
24, — + + + + e =

5 25 35 45t

A loge< )
B.1 2
log, { =
5

C.log, <Z)

D.2 — log, 2

o | oo

Answer: C

o Watch Video Solution

2 3 4

1/1 2 (1 3(1
25.Th fth ies — | — —| = —| =
esumo eser|e52<5) —1—3(5) +4(5> + ... s

A1—|—lo 4
1%\ g


https://dl.doubtnut.com/l/_LLIkQkZA6gP2
https://dl.doubtnut.com/l/_wk2jxdNHmJtn
https://dl.doubtnut.com/l/_yOKXcqwnTs4s

Bl-i-l 2
-3 Tlog | 3

C1+l ]
-5 tloge| 5

D. none of these

Answer: A

° Watch Video Solution

%L 1 1t 11 11
2 2 92 3793 4 ot
A.log, 2
B.log, 3
C.log, 5

D.log,.(3/2)

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_yOKXcqwnTs4s
https://dl.doubtnut.com/l/_oYEqopzlSO6L
https://dl.doubtnut.com/l/_X7dMzg15BZVj

Answer: D

° Watch Video Solution

the

) - s

series


https://dl.doubtnut.com/l/_X7dMzg15BZVj
https://dl.doubtnut.com/l/_LxE2wb5qIk6e

Answer: B

° Watch Video Solution

A.log.(a/b)

B.log.(b/a)
C.log.(a +b)

D.log,(a — b)

Answer: A

° Watch Video Solution

30.(a — 1) — =(a— 1)° + %(a —1)° - %(a — Dt

A. log a


https://dl.doubtnut.com/l/_LxE2wb5qIk6e
https://dl.doubtnut.com/l/_jp2qzTIyO8E2
https://dl.doubtnut.com/l/_D8W3Qjh0AwQ6

B.log(a — 1)
C.log(1 + a)

D.log(1 — a)

Answer: A

° Watch Video Solution

3 e 1-3(e-1) +5(z-1)"—f(z-1)" 1.

Alog(z — 1)
B.logx
C.x

D. none of these

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_D8W3Qjh0AwQ6
https://dl.doubtnut.com/l/_oy0Ci7edrTeD
https://dl.doubtnut.com/l/_qH2rF8GUDZ0d

b-—1)—-20p-12+10b-1)°—..
32.1f S = 2 3 , then S =

(a —1) —%(a—l)z—k %(a—l)?’—...

A.log, b

B.log, b

C.log, a

D.logy a

Answer: B

o Watch Video Solution

33. + + + =

A log

B. log

C.log

D. log 21


https://dl.doubtnut.com/l/_qH2rF8GUDZ0d
https://dl.doubtnut.com/l/_pVmJeIBzfivb

Answer: B

° Watch Video Solution

T 1 T 2 1 T 3
34. — —
CE+1+2<$+1)+3<$+1>+

Alog(1+ z)
B.log(1l — z)
C.logzx

D. none

Answer: A

° Watch Video Solution

35 2ax +1( 2ax >3+1( 2ax >5+
T a? o+ 2 3\ a?+ 2 5\ a2 + z2

a-+x

A. log.


https://dl.doubtnut.com/l/_pVmJeIBzfivb
https://dl.doubtnut.com/l/_E7yc2DK2kBZ0
https://dl.doubtnut.com/l/_OQocMg8rUPlv

a—x
a—+x

T+ a
r —a

B. log.

C.log.

T —a
T+ a

D. log.

Answer: A

° Watch Video Solution

om 1/ 2n \* 1/ 2n \°
36. + — + — + ...
n2 +1 3\n2+1 5\n2+1
n+1
n—1

A. log.

n—1
n+1
14+n
1—n

B. log.

C.log.

1—n
"14n

D.log

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_OQocMg8rUPlv
https://dl.doubtnut.com/l/_cc5M7nmk9YF0

1

1
37 5t
(2z — 1)

"2 —1

o] =

(2z —1)° i

1 x
A. —log.

z—1

B. —log.

C. =log.

1—=z

1—=x

1
D. —log.

Answer: A

o Watch Video Solution

A llog. L
2 z+1
x
B. log- w—_H-
C. 1log. z
2 -1
D. llog. v+ 1
2 T


https://dl.doubtnut.com/l/_nWC4Wo5qjEEH
https://dl.doubtnut.com/l/_9U8kAFpEQmOt

Answer: D

° Watch Video Solution

Answer: B

° Watch Video Solution

x2 —1 x3 — 1

1
@11’ 3@t

T 1
40.If z > Othen —
r+1 2

Alog(l + )


https://dl.doubtnut.com/l/_9U8kAFpEQmOt
https://dl.doubtnut.com/l/_06yZFhSfDDve
https://dl.doubtnut.com/l/_2G7IIIjKjQkt

B.log(1l — z)
C.log(z — 1)

D.logzx

Answer: D

° Watch Video Solution

41.log(1 +z+ 2+ oo) =

.’22

A. —
T + 5

L\J|i“3w

Cl4+z+ — +

D.1—zx +

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_2G7IIIjKjQkt
https://dl.doubtnut.com/l/_sosJfJBuNOUD
https://dl.doubtnut.com/l/_BkTt7MCAvdGl

1 2 3
42.if |z| < 1then —z® + —2° + —z*

5 3 1 + .. =

+ log(1 — x)

+ log(1 + x)

+ log(1 + x)

—
8 4+
8

D. log(1 —
g tloel o)

Answer: A

o Watch Video Solution

a—1+1 a—13+1 a—15+
a+1 3\a+1 5\a+1

A loga

43.

B 11
. E oga
C.2loga

D.log(1/a)


https://dl.doubtnut.com/l/_BkTt7MCAvdGl
https://dl.doubtnut.com/l/_p06ucoDGtbo5

Answer: B

° Watch Video Solution

z?2 2 ozt
44.If|:I:|<1andy:m—7—|—?—7+...,thenx=
2 3
Yy Yy
A. — — ..
y+5 3+
2 3 4
Yy Yy )
B.y — = + & — 2 4 ..
N T R
2 3
Yy )
Cyt oy + 357+
2 3 4
Yy ) )
D.y—a-i-y—E-F..
Answer: C
o Watch Video Solution
2 3
45.Ify:a:—|—%—|—%+....oo,thenx=
2 3 4
A.y—y—-i—y——y—-l-

2! 3! 4!


https://dl.doubtnut.com/l/_p06ucoDGtbo5
https://dl.doubtnut.com/l/_jSXJ7fzsueGn
https://dl.doubtnut.com/l/_RQU6MIlhyoaG

v oy oyt

B.y+—2! +—3! +—4! +

2 3 4

Y Y Y
C.l—y—l-a—g—l—z—...

2 3 4

Y Y Y
D.l—l-y—l-a—l-i—l-z—l-....

Answer: A

° Watch Video Solution

x q
46.]a| < 1,b= ¥ — = a=
k=1 k
o (— 1)k
A X
k=1 k
o 1)k~ 1pk
B. ¥ ( )
k=1 k!
o (— 1)k
C.
k=1 (k—1)!
E—1
o (—1)" vk
D. ¥ ( )
k=1 (k+1)!
Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_RQU6MIlhyoaG
https://dl.doubtnut.com/l/_pZXmV1OAXC2o

z? 2z 3x6
(gt gt 3t )
2\ z2 22 325
D._(i+i+i+ )
z2  2z* 3z
Answer: C

o Watch Video Solution

A 2logx — log(z + 1) — log(z — 1)
B.log(z + 1) 4+ log(x — 1) — 2logx
C.2logz + log(z + 1) — log(z — 1)

D.2logx — log(x + 1) + log(z — 1)


https://dl.doubtnut.com/l/_INSdw9SulZfQ
https://dl.doubtnut.com/l/_WLxueuvxl1rx

Answer: A

° Watch Video Solution

1

1 1 n 1
1.3°

1
49. . :
24 92 ' 35 9

- -
5 . =

1

31
-1-205.35.2

5
4
4 31 5
Z-i-Eog

C 1 31 2
-5 T 508
D4 21 1
5 T3\ 2

Answer: A

o Watch Video Solution

50.3z — 2% 1
3T — — + 3 1 + e +(—1)

A log(l + 4z + 3:1:2)


https://dl.doubtnut.com/l/_WLxueuvxl1rx
https://dl.doubtnut.com/l/_uDxeP5VOW6ab
https://dl.doubtnut.com/l/_TGoXyVIBsnlI

B. loge(l + 3z + 2a:2)
C. log(l + 5z + 6332)

D.log, (1 + 6z + 5z%)

Answer: B

° Watch Video Solution

13 35 , 97 ,

51.50 — — a2 + — 2% — 24 + ...

2 3 4
Alog(1 + 4z + 3z?)

B. (1+ 3z + 2z°)
C.log(1 + 5z + 6z%)

D. (1 + 6z + 5w2)

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_TGoXyVIBsnlI
https://dl.doubtnut.com/l/_QK49ghxbzQ58
https://dl.doubtnut.com/l/_rwVRNHRJUISd

52. The coefficient of 2" in the expansion of log, (1 + 3z + 227) is

A(=D)"'1+2Y/n
B.(—1)"(1+2"" ") /n
c(—1"'2"/n

D.(—1)"(2" —1)/n

Answer: A

° Watch Video Solution

53. The coefficient of " in the expansion of log (1 — 5z + 6z) is

2" 4+ 3"
' n
2n _377,

n

3" —2"

A

B.


https://dl.doubtnut.com/l/_rwVRNHRJUISd
https://dl.doubtnut.com/l/_AxD6Vvpul254

Answer: D

° Watch Video Solution

54. If n =3m then the coefficient of z" in the expansion of

log(l +z + 332) is

B.1/n
C.2/n

D.—2/n

Answer: B

° Watch Video Solution

55. If n = 3m then the coefficient of z"™ in the expansion of

log(l +x + :c2) is


https://dl.doubtnut.com/l/_AxD6Vvpul254
https://dl.doubtnut.com/l/_HUCFSKl9j2EB
https://dl.doubtnut.com/l/_wNgR6uudljKQ

A.n
B.1/n
C.2/n

D.—2/n

Answer: D

o Watch Video Solution

1+ z + 2

56. The expansion of log. as ascending powers of x is

zd....

2
9
2 z> oz 2

43, L& T4 9
D.2{x—|— 336 + 5 + 7 + gx....

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_wNgR6uudljKQ
https://dl.doubtnut.com/l/_S0Crtvzn8Uga

57.1f || < 1, the coefficient of z* in the expansion of log(1 + z + z*) in
ascending power of x, is

A2/3

B.4/3

c.—2/3

D.—4/3

Answer: C

o Watch Video Solution

58. If x is very small and neglecting 23 and higher powers of x then the
expansion of log(1+ z*) —log(1+ z) —log(1 —z) as ascending

powers of x is

A 2x


https://dl.doubtnut.com/l/_S0Crtvzn8Uga
https://dl.doubtnut.com/l/_oU9aATHpQ8hx
https://dl.doubtnut.com/l/_bjXeOpDs50jw

B. 22

C.1+2x

D.1— z2

Answer: B

° Watch Video Solution

59 T +x2+a}3 _
1.2 34 56 toe =
vz 1++vz 1
log. + —log(l — z
5 log s 2 g( )
Ve 1 -z
B. log. +log(l — z=
5 log = g( )
VvV 1+ vz
C. log. + log(xz — 1
s T 2 g(z — 1)
VvV 1 -4z
D. log. + log(xz — 1
5 log = g( )
Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_bjXeOpDs50jw
https://dl.doubtnut.com/l/_AkjeVxyLhcpo
https://dl.doubtnut.com/l/_L1z3mSX7wBYy

1
D. ﬁlog(l + )

Answer: C

° Watch Video Solution

n—|—1/2

"3

A i[al: + log(1 — )]

Ve

B. — %[m + log(1 — z)]

C. %[z + log(1 — z)]

D. — %[m + log(1 — z)]


https://dl.doubtnut.com/l/_L1z3mSX7wBYy
https://dl.doubtnut.com/l/_201HymcP8HdJ

Answer: B

° Watch Video Solution

1 1
62.sin’ 6 + Esin40 + Esinﬁe + ... =

A.2logsinf
B.2logcos 0
C.2logsect

D. 2log cos ec

Answer: C

° Watch Video Solution

1 1
63.cos> 6 + 500840 + 500360 4+ =

A.2logsin6


https://dl.doubtnut.com/l/_201HymcP8HdJ
https://dl.doubtnut.com/l/_0n7RJB2I9Mqw
https://dl.doubtnut.com/l/_Kc04AwBKfx8y

B.2logcos 0

C.2logsect

D. 2log cos ec

Answer: D

° Watch Video Solution

1 1 1
64.tan’ 0 — Eta,n40—|— gtanﬁé? — Ztange—i— e

A.2logsin6
B. 2logcos 0
C.2logsect

D. 2log cos ec

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_Kc04AwBKfx8y
https://dl.doubtnut.com/l/_P3Cr6a1c4F5n
https://dl.doubtnut.com/l/_xF5i7cQ4fjrl

1 1
65. cos 0 + gcos?’e + gcos‘r’e + ... =

A.logtané
B. log cot 6
C.logtan(6/2)

D.logcot(6/2)

Answer: D

o Watch Video Solution

1 1
66. sin 20 -+ gsin3 20 + gsim5 20 + ... =

A.logtanf
B. logtan((pi)/(4)+theta)’
C.logtan((pi)/(4)-theta)’

D.logt 6
logtan. 5


https://dl.doubtnut.com/l/_xF5i7cQ4fjrl
https://dl.doubtnut.com/l/_v6FxTaoyjGpB

Answer: B

° Watch Video Solution

L 1 5
67. cos 20 + gcos 20 + gcos 20 + .... =

A.logtan6
B.logtan(% + 0)
C. logtan(% — 0)

D. log. cot 6

Answer: D

° Watch Video Solution

1 1
68.tanf + gtan?’G + gtan50 + ... =

A.logtan 6


https://dl.doubtnut.com/l/_v6FxTaoyjGpB
https://dl.doubtnut.com/l/_xZzrrg4ME8pR
https://dl.doubtnut.com/l/_mjuD3aLqAFgv

B. %logta,n(% + 0)
C. %logtan(% — 0)

D. log cot 6

Answer: B

° Watch Video Solution

69. The sum of the series log, 2 — logg 2 + log;42 — .... is

A. 62

B.log, 2 + 1

C.log, 3 — 2

D.1 — log, 2

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_mjuD3aLqAFgv
https://dl.doubtnut.com/l/_8y7HeU4aCeQj
https://dl.doubtnut.com/l/_kJAyPx4vEXZZ

70. If x,y,z are three consecutive positive integers then

110 x+110 z+ 1 +1 1 3+ =
9 0BT T R T S T T3\ 2 1 1 T

A.log, x

B.log, y

C.log, 2

D.none

Answer: B

° Watch Video Solution

Exercise 2 Set 1

l+z (1+2z)? @1+

1. The coefficient of " in + + + ...

1! 2! 3!

A.onlylis true

B.only llis true


https://dl.doubtnut.com/l/_kJAyPx4vEXZZ
https://dl.doubtnut.com/l/_fD3ZanmH1ld2

C.both I and Il are true

D. neither I nor Il true

Answer: A

° Watch Video Solution

2 4 6
Z.I:F—i_a—f—ﬁ—f_....:e_l
3.5 7 9 o

A.only lis true

B.only Ilis true

C.both I and Il are true

D. neither I nor Il true

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_fD3ZanmH1ld2
https://dl.doubtnut.com/l/_59byuA4CGDtW
https://dl.doubtnut.com/l/_MW8dTIAc5FJ1

1 142 142422 2
3.I.F—|— 2! + 3' + ... = e — e

2 244 24446
T T T

11

A.only lis true

B.only Il is true

C.both I and Il are true

D. neither I nor Il true

Answer: C

o View Text Solution

A.only lis true

B.only Il is true


https://dl.doubtnut.com/l/_MW8dTIAc5FJ1
https://dl.doubtnut.com/l/_qRCp3aB8AhnM

C.both I and Il are true

D. neither I nor Il true

Answer: A

° Watch Video Solution

IIi— — — +— — — 4 ... =2log,2— 1

A.only lis true
B.only Ilis true
C.both Iand Il are true

D. neither I nor Il true

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_qRCp3aB8AhnM
https://dl.doubtnut.com/l/_Tl1w1AnSxNsl
https://dl.doubtnut.com/l/_XkRHJAEDzbcX

z? 3 4 2
6.1:Ify =2a —

3
T Y Y
74-?—7-1-.... then z =y +

E + y + ...
22 e yz y3 y4
II:Ify:x—l—T%—?—k....oo,then w:y—a—l—y— E—{—
A.only lis true
B.only Il is true
C.both I and Il are true
D. neither | nor Il true
Answer: B
o Watch Video Solution
Exercise 2 Set 2
1. If
4 8 a 4 16 64 b 2

1!
then the ascending order of a, b, cis


https://dl.doubtnut.com/l/_XkRHJAEDzbcX
https://dl.doubtnut.com/l/_zYZpErIHPsPK

A.ab,c

B.b,c,a

C.cab

D.a,.,b

Answer: C

o Watch Video Solution

2 32 4 12.2

2 — — — J—
1 —|—2! +3! —1—4! + .... = ae,

then the descending order of a,b,c is

A.ab,c
B.b,a,c
C.cab

D.a,,b

1!

2!


https://dl.doubtnut.com/l/_zYZpErIHPsPK
https://dl.doubtnut.com/l/_hcMQFl6zpPtj

Answer: C

° Watch Video Solution

3.1f a, b, c are the fifth terms of log,(3/2), log,(4/3), log.(6/5) then the

ascending order of a, b, cis

A.ab,c

B.b,c,a

C.cab

D.a,cb

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_hcMQFl6zpPtj
https://dl.doubtnut.com/l/_0NsMJE3EX3y0
https://dl.doubtnut.com/l/_9C94v563xLJx

1
1+ + + + .... = log, c then the ascending order of a,

3.22 592 796

b,cis

A ab,c

B.b,a,c

C.cab

D.a,,b

Answer: B

o Watch Video Solution

s L, 1 LIy,
13 2\35) " 3\57) T

A.ab,c
B.b,c,a
C.cab

D.a,.,b


https://dl.doubtnut.com/l/_9C94v563xLJx
https://dl.doubtnut.com/l/_u5HQDMRTrovq

Answer: B

° Watch Video Solution

Exercise 2 Set 3

1. Match the following

L The (n + 1)th term in the expansion of ¢° is
IL.The (1 + 1)th term in the expansion of & is

IIL. The (» + 1)th term in the expansion of & * is

IV. The (n + 1)th term in the expansion of & s

A.cd,ab

B.b,a,d,c

C.c,a,b,d

D.d,,b,a

Answer: D

4x)"
°)'(}i!'

| o View Text Solution



https://dl.doubtnut.com/l/_u5HQDMRTrovq
https://dl.doubtnut.com/l/_qPhNDKqgLUAT

2. Match the following

11 1 B N
R TR TR TR a)yle-e)
PP — b']ﬁ—r-r'"')
T T s )

3.5.7.9. e
TR TR R TR ¢)3
; 2.3 .4 _ .
1\"11_3!'{-51‘?i+ ----- = die—1
A.cd,ab
B.b,a,d,c
C.c,a,b,d
D.d,,b,a
Answer: B

° View Text Solution



https://dl.doubtnut.com/l/_qPhNDKqgLUAT
https://dl.doubtnut.com/l/_PqOMqeWqf6i9

[ a2, 3 ad
VIR TR Th
a3 4,
12 +55 ;-;-3{1—1 +....=
L. &t
35 A6 5T
3 AT TR =
A a.cb
B.b,c,a
C.cab
D.cb,a
Answer: B

a) (x4 Tx+8) e — 8
b+ 1)

e’ +dxr+2) €'

° View Text Solution

Match the following.

a) log, 3
b) log,5

c) log 2



https://dl.doubtnut.com/l/_0RyCnAiMLACm
https://dl.doubtnut.com/l/_P1IaxtGkUpxm

B.b,c,a

C.cab

D.cb,a

Answer: C

o View Text Solution

. Maich the following.

RINRYS RINTERY - 1
1. 1.3+2\A.5J+3[5.7]P"“_ a)zlag,2
B IS R S W R ) 2
. 2[\5] 35 *4['5} e "J"’g'[g]
Tl Iy Tl 1y tr1l Iy 1 r4
NS ls+5 -5+t <ls+rs— c)—+log,
5 2.2 3 4|k22 3AJ lez ¥) 4 \5].
A.a.cb
B.b,c,a
C.cab
D.cb,a

Answer: B



https://dl.doubtnut.com/l/_P1IaxtGkUpxm
https://dl.doubtnut.com/l/_3GijuxqO0Z3R

I o View Text Solution

Exercise 2 Set 4

1. A: The value of e lies between 2 and 3.
1 1 1
A.Both A and R are true and R is the correct explanation of A
B.Both A and R are true but R is not correct explanation of A
C.Ais true but R is false

D. Ais false but R is true

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_3GijuxqO0Z3R
https://dl.doubtnut.com/l/_dG3s9y1AJgFT

(log. 3)*  (log3)°

2.A:log, 3+ St . =2
R : If

2 3

€T 2 €T s
z,a € R and a >0 then a" =1+ zlog,a + ?(loge a)” + y(log6 a)

A.Both A and R are true and R is the correct explanation of A

B. Both A and R are true but R is not correct explanation of A

C.Ais true but R is false

D. Ais false but R is true

Answer: A

o Watch Video Solution

3. A (3M2)/(2H)+(37(4))/(41)+(37(6))/(6))+..=cosh3-1."  "R:coshx=1+

(x™(2))/(2N+(x"(4))/(4)+....

A.Both A and R are true and R is the correct explanation of A

B.Both A and R are true but R is not correct explanation of A


https://dl.doubtnut.com/l/_bGT1dtRvRVEV
https://dl.doubtnut.com/l/_ReGBuqIIYPJv

C.Ais true but R is false

D. Ais false but R is true

Answer: A

° View Text Solution

e 1 1 1 . 1 1 1 1 L ) 3
0 -5 50? g-? Z-? K _— Oge 5
x2 x>zt
R: log, (1 —p - L T2
og.(l+z) == 5 + 3 1 +

A.Both A and R are true and R is the correct explanation of A

B. Both A and R are true but R is not correct explanation of A

C.Ais true but R is false

D. Ais false but R is true

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_ReGBuqIIYPJv
https://dl.doubtnut.com/l/_kfDwcw0nPd1Z
https://dl.doubtnut.com/l/_k73rwauZtCbO

5A_a—b+1 a—>b 2+1 a—>b 3+ A (a)
. . a E a g a cese — gez
3

T 134

3 i

2
R:log (1—z) = —x—%

A.Both A and R are true and R is the correct explanation of A
B.Both A and R are true but R is not correct explanation of A
C.Ais true but R is false

D. Ais false but R is true

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_k73rwauZtCbO

